211 "1 ana a7 '0M 2,2 paw .7"o2

There, where it is not  — 510 X% U2 %10 217 K7 NAW P°Y X7 2N
naw 9»%y; he teaches the 5211 but not the "o

OVERVIEW

X959 17 explained why here the 71wn states 0°192 '7 17w '2 and Y72 '7 1AW '3, while in
My the Mwn merely states '7 17w '2. The reason is that since here it is P2w PV
so the mwn includes w91 *211, however there since it is not NAw pP°Y he only
includes *21°1, but not the *1v5. Our MdOIN has some difficulty with the latter part
of this distinction (regarding naw 7p°v 1827 oni) and qualifies the s'R773 answer.
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It was not necessary for X955 17 to state that the reason he does not mention 109

in My12w noon is (only) because there it is not 2w >y -
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But rather he could have said that the 7Iwn in M¥»M2Y does not include *Mvd
because the Xin states the cases in a manner that they are all similar to 2°wa1 nIN9»

where they are X211 17913 -
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However the reason 9"1 states that "o naw 7y XY and is because it was
necessary to answer that since here is naw 9psy, therefore the Xin teaches 4%3vn

Y98, therefore 5" -
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Also concluded that there since it is not 2w 9»°¥ he mentions only 21’1 (even though
the ‘real’ reason may be since there it is 2°¥31 NIRNT XONI7).

mooIn takes his assertion one step further:
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And even the questioner (who asked 121 ani w"n1 121 X377 w"n) did not ask that
the mwn in M¥2Y should state there as it states here ( '7 77w '21 0°192 '7 17w "2
772), since he knew that >1np 29031 NIRRT X217 —
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' mooIn assumes that 2" accepts what the X723 mentioned previously that *1np 2°va1 mx a7 xm7 and therefore all the
cases in NW2w noo» must be X217 177912, (See previous &M 7"7 NOOIN.)

? See o°now pn» and “Thinking it over’ # 1.

 When the 131 initially answered that in m»aw he only counts the Mmax the 7wpn refuted him that it cannot be only
MAaX since there are only two NIX*X> and it cannot include the >715 since *INpP O°¥31 NIRMT X°M17, indicating that the
1wpn who refuted the 7¥7n already knew this concept of 2°va1 mXanT X7 when he asked his question.
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But rather his initial question was that here in our mwn it should only state
' 37w 2°nw and no more (it should not add Y 1924

SUMMARY

The wpn knew that *1np 2°¥a1 MXMT XM7; he mentioned Naw =p°y W97 ani so
therefore *1np X7 w5 *anp *21n, only because he started answering Naw Y X7
therefore >71091 211 Xin. The question of 'X37 w"n' 1s that in N2W 'on it should only
state '7 17w '2' (and no more).

THINKING IT OVER

1. mpoIn explains that when the X773 initially asked "2 ani w"n 21 RO w'"n; the
question was not that in M¥2w it should add Y721 0192 (as it states in our HJWD),S
but rather that our 71wn should just mention '7 27w 2°3% and no more. Seemingly
this is difficult to understand for the X723 clearly states, 1M1 '7 17w '2 °1np7 ana w"m
XY; (seemingly) indicating that the question is on the 7w in 1w ?1°

2. moon explains that the initial question of the X7 was that our 71wn should just
state '7 77 '3 (as in Myw) and eliminate the .’ Seemingly this is not a valid
question that here in naw n2on he should only mention >2vm; for at some point the
x1n has to teach the (*3°0X 2x) *11v9, therefore he mentions it here!®

* See “Thinking it over’ # 2.

3 See footnote # 2.

% See min nnom.

7 See footnote # 4.

8 See 0" and 21 7""72 D°NOW pNn.
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